Or (3raan)

(a) Show how the impact of per unit excise tax depends on
elasticities of demand and supply. pos
weRfa A B B var gir gfe sara g @
g i ok gfef @t del w ik s #) ?

(b) What is the difference between—
frfafea & @ar ofw &

(i) Accounting Profit and Economic Profit
AETHT T AR Mies AT

(i) Walrasian Stability and Marshallian Stability? (
AR WE SR IS T ? 4
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SEcTION A (878 )

l. (a) If the demand function is given by Qp = 70 — 10Px and

supply function-is given by Qs = -200 + 80Px, find
equilibrium price and quantity.

aft W EE Qo = 70 - 10Px AR qRF BT Qs =
~200 + 80 Px & @ WEFT HWa AT AT A
A | 5

(b) Calculate cross elasticity of demand between Lemon and

Tea and state the type of relationship:

Goods Before After
Price  Quantity: Price - Quantity
Lemon (Z) 10 20 20 15
Tea (X) 20 40 20- 35
Hfg IR G & &= W w wE W H IREa
- BT R GEY # fRET &1 IwE BT
- TRy RES) i &
FHd W A W
g (2) 10 20 20 15
g (X) 20 40 20 38 5

(c) Prove that in the case of two straight line demand curves,
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with the same point of origin on the prices axis, at any

given price the elasticity is the same inspite of different

slopes.

Or (319am)

(a) Derive LAC from short run plant curves. Also explain why

LAC curve is flatter than short run cost curves. .
st WaT T ¥ LAC o= A e &
e g fh R RO LAC @96, Seamafer @
T § It Fuer B B 7%

(b) Write short notes on:

ffefaa w Hitra Rufrt faRaa:
(i) Fixed Cost vs. Sunk Cost

fer wr g7 R A
(i) Private Cost vs. Social Cost

fstt are g9y s @

(iii) Accounting Cost vs. Economic Cost.

AGHOT AN F979 eiE A0 | oA

Section C (@8 W)

5. (a) Explain and derive diagrammatically the long run

supply curve of a constant cost industry under perfect

competitive market.

T Hfog AR SIREE ®9 § Ry arm we i &
gof yfteaelf o & ofaeia, defatt gfd @ @
ZA BT | 7

(b) Derive the supply curve of a price taking firm as well as of

the industrylin the short run.
B A ATl B SN T & ereater § et @ g
T G BT | i 7%
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Or (\'ﬂﬂﬂl’)

(a) What is the difference betweeﬁ expansion path and

isocline? What will be the shape of isoquant when MRTS
is constant and MRTS is zero? :

e SR SRS & ST T S ¥7 angEe
& g T e S MRTS e & 3fR MRTS gm=r
22 7%

(b) Prove that the slope of isoquant is equal to the ratio of MP,

and MP,_. Explain why MRTS , is likely to diminish as
more and more labour is substituted for capital.

e #ifg % smeEieEe @ @@ MP SR MP, &
HAUIT H TG & | WreAr &g 6 fFE s
MRTS & ¥ &l G9IE & Sier Aftranifere o7

oot & for wforeenfoa fomar smar #) 7%

4. (a) Explain the shapes of short-run cost curves. Analyze the

relationship between Average Cost (AC), Average Variable
Cost (AVC) and Marginal Cost (MC).

SFITER WA G I B AT BT | S
AN (AC), 3 aftadt @RI (AVC) 3R Hiwia arm
MC) & 919 Hag F1 fasawer i | U2

(b) IfTC=(50+Q) (90 + Q), where TC = total cost, Q = units

5448

of goods produced, find TFC, AFC, TVC, AVC, AC,
MC.

e TC = (50 + Q) (90 + Q), el TC = FW AN, Q =
g ® Idifed ge g, @ TFC, AFC, TVC, AVC, AC,
MC &t §1d #ifong | T

forg @i 6 & el T st awl & @9 #, R

e o7eT 9 I TN favg & g ¥, & v ama

W g A B § AR e B @ 5
Or(aﬂlill')

(a) Differentiate between Cross Elasticity of Demand and

Income Elasticity of Demand with numerical example.
L1821 1 o B ol Ly
3R wiftgs e o) 5

(b) From the supply schedule given below find price elasticity

()
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of supply for a movement from:
(i) PointAtoC

(ii) Point C to A and

(i) Midway between A and C.

Points A B C D
Price 6 5 4 3
Qx 600 550 450 300

e T gfel SR & it @ da @ et
T & fou s Ao

() f&g AdC

() g cq A @ir

(i) A R C F & )

frg A B & D

EAL G 6 5 4 3

Qx 600 550 450 300 5
Prove that supply curve given by :

(i) Qsx =100 Px has unit elasticity

(i) Qsy =200+ 100 Py is inelastic.

3 Turn over



forg @it & ofet =5 | A Al 600 BT A A AT B X &R Y

G) st—IOOPxFﬁl'qﬁEEﬂ?% " Tegell W o & I T TG X A B 30.00 Bo
(i) Qsy =200 + 100 Py Srarasiir &1 iy ‘ @R YF #imd 10.00 To ¥ AR a8 12X AR 24Y [N

2. (a) Consumer is better off with cash subsidy than with excise - E_l A e ¥ A T 9E A A © 2 W e &
subsidy. Explain why grants are always given in the form ¥ gefifa i | e
of excise subsidy rather than cash subsidy. Sacron B (@vE @)

ITHIT Vhe TEEar & IqET Ferdar @ FEa A

| © 3. (a) Show that in a linear homogeneous Cobb-Douglas
& ! 5 d s 4 ' production function X = AL°KP,

I e & 9§ Rar awar ¥ 7 fF dws wowar | ( A R B IR AL Y
7% ] :
%E‘Tﬁl : 'z WX=AL¢1KB’
(b) “A Giffen good must be an Inferior good but an Inferior 1A it e e i the gl
~good need not be a Giffen good.” Explain this statement ; _ : “
O ( output also increases in the same proportion.

::i:nggt::econcept of income and substitution effect of price ‘ ol i B i P
ﬁma@qmaﬁma@aﬁmﬁqmﬁqﬁmw forfe oft @ orua & 93 S ¥ 3%
&1 I axg & snavas 7@ &1 dma R & (i) Theaverage and marginal product depends on the input

A AR URIEITT TG B HEET H AT H 5 | mﬁo%.
HUT B ATEAT HIT | 7V - i
Or (ar) , Sft of Wwia were Faw s T WPl
(a) Explain, price effect is summation of income effect and e 4

substitution effect in case of a Normal good. 5 i . i L
8 | \ (b) Explain the statement, “If production function exhibits

T HIPTY F BT THT JA aeg & e o A {5
T S AR TN WE?. - ( \ ».( constant returns to scale, the returns to variable factor will
2
(b) Monica spends her entire income of Rs. 600 on goods X
and Y. The price of good X is Rs. 30.00 and price of good
Y is Rs. 10.00. If she consumes 12X and 24Y, is she in
equilibrium? Show it diagrammatically.

always be diminishing.”

T FYT FN A BT : “aRy TaET B Re
Aot gfoed geifa @ar & @ oRadh s gfoed
eT TEAE @7 7%
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